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TasLe IX.—CALCULATION OF EARTHWORK.

HEIGHT

.04| .06| .07| .09( .11f .13| .15] .17| .18| .20| .22| .24 .26 .28

68| 1.81 | 1.94

cmaa mhmm-i Width
=
N

R SELESH &)

=
—
ot etk et b et et B

il 1

1.00(1. 1 1

1.16|1. il 1
1.33|1. i} 1 2.22
1.50(1. 2 2 2.50
1.67|1. 2 2 2.59 | 2.78
1.83|2. 2 2 2.85| 3.06
2.00(2. 2 2 3.11 | 3.33
2.16(2. 2 3 337 | 3.61
2.33(2.¢ 3 3 3.65 | 3.89
2.50(2. 3 3 3.89 | 4.17
‘ 2.67(2. 3 3 415 | 444
J 2.83(3. 3 4 441 | 4.72
1.00{1.33 67|3.00(3.33(3.67/4.00(4.33| 4.67 [ 5.00
19 | .35 .70(1.06|1.41|1 82(3.17|3.52|3.87(4.22|4.57| 4.92 | 5.28
20 | .37| .74[1. 96(3.33(3.70(4.07]4.44(4.81| 518 | 5.56
21 | .39| .78|1.17 3.11(3.50(|3.89(4.28(4.67/5.06| 5.44 | 5.83
22 | .41] .81|1.22 3.26(3.67(4.07(4.48/4.89|5.30| 5.70 | 6.11
23 | .43| .85|1.28 3.41|3.83(4.26(4.68/5.11|5.54| 5.96 | 6.39
24 | .44| .89|1.33|1. 3.56(|4.00(4.44(4.89|5.33(5.78| 6.22 | 6.67
25 | .46| .92|1.39|1} 3.70(4.17(4.63(5.09(5.56(6.02( 6.48 | 6.94

e g

26 | .48| .96|1.44|1.9 3.854.33|4.82(5.30/5.78/6.26| 6.74 | 7.24
27 50|1.00(1.50(2.0f 0[4.00(4.50(5.00(5.50/6.00{6.50{ 7.00 | 7.50
28 52|1.04(1.55(2.0 3(4.15(4.675.18(5.70/6.22|6.74 7.26 | 7.78
29 54/1.07|1.6112 .1 4.30(4.83/5.37(5.91/6.44|6.98( 7.52 | 8.06
30 56(1.11[1.67|222) 3 4.44/5.00(5.55(6.11/6.67|7.22( 7.78 | 8.33
81 | .57(1.15]1.72|2.3012.87 4.59|5.17(5.74(6.32/6.89(7 .46/ 8.04 | 8.61
82 | .59(1.18/1.78/|2.37|2.96 4.74|5.33|5.92(6.52|7.11|7.70( 8.30 | 8.89
33 61(1.22|1.83|2.44(3.056 4.8915.50(6.1116.72|7.33|7 .94 8.55 | 9.17
34 63(1.26|1.89(2 3.15 5.04|5.67(6.29(6.93|7.56(/8.18| 8.81 | 9.44
35 65[1.30(1.94(2 3.24 5.18|5.83(6.48(7.13|7.78/8.42) 9.08 | 9.72
86 | .67(1.33[2.00{2.67(3.33 5.33(6.00(6.67(7.33(8.00|8.67| 9.33 | 10.00
37 | .68[1.37(2.06(2.74(3.42 5.48|6.17(6.85(7.54(8.22|8.91| 9.59 | 10.28
38 | .70(1.41(2.11|2.82|3.52 5.63(6.33(7.03(7.74/8.44(9.15| 9.85 | 10.56
39 72(1.44|2.17(2.89(3.61 5.78(6.50|7.22|7.95/8.67|9.39| 10.11 | 10.83
40 74(1.48|2.22(2.96(3.70 5.92(6.67|7.41|8.15/8.89]9.63| 10.37 | 11.11

' Table gives cu. yds. in 1 ft. of a triangle of given width and height. Corrections for
tenths of width are one tenth the values found under each height considering the widths
from 1 to 9 as tenths and similarly the corrections for tenths of height are one tenth the
figures opposite width considering the heights from 1 to 9 as tenths. Thusif w =16.2 and
h =5.3, cu. yds. =1.484-.028+.089 =1.597 cu. yds. or practically 160 cu. yds. per 100 ft.
1f w exceeds 40 ft., use one half and multiply result by 2, if both w and h are large use
one half of each and multiply result by 4. Any cross-section may be divided into
triangles by the following rule. To the triangle of the sum of the outside cuts (or fills)
=h, and 4 the roadbed ==w, add the triangles formed by taking the distance out to each
break in turn ( =w’s) by the difference between the cuts (or fills) on each side of it ( =h’s)
always subtracting the outer from the inner.




DISTANCES FROM CENTER OF ROADWAY FOR
CROSS-SECTIONING. s
Roadway 16 feet wide. Side Slopes 1 on 114, A
For Single Track Embankment.

n
» ~

Holl Soa | Sile .3].4'.5 0 [ Al T R B
oll 8ol s2| 83| 85| 86| 88| 89| 91| 92| 94| o
1l 95| 97! 98100101 |103]104106]107 109 1 —
2ll11.0|112]11.3|11.5[11.6]11.8|11.9[121 122|124 | 2
3125)1277| 128 130|131 133 134|136 | 137 | 139 3
4140|142 | 143|145 |14.6| 148|149 | 151|152 | 154 4
51155(157(158(16.0]/16.1]163[16.4]| 166|167 [16.9] 5
617.0|172|17.3|175(17.6 | 17.8 | 179|181 | 182 | 184 | 6
71185(187(188(19.0/191]19.3|19.4]| 196|197 [19.9] 7
8 1200/[202(203[205]206|208(209]211[212|214( 8
9l215(217(218[220]22.1|223|22.4]|22.6|227 | 2291 9
10 [ 23.0| 232|233 (235|236 |238|23.9|24.1 (242|244 10
11 |245|247|248|25.0] 251 [25.3| 254|256 (257 | 25.9 || 11
12 [ 260|252 26.3|26.5|26.6|26.8|26.9]|27.1 (272|274 12
13 [ 275|277 27.8| 28,0 28.1 [ 28.3 | 2814 | 2816 | 28.7 | 28.9 || 13
14 [ 290|202 | 2973 [ 295|296 [ 20.8 | 290.9 | 30.1 | 30.2 | 30.4 || 14
15 | 305|307 [30.8]31.0|31.1|31.3]|31.4|31.6(31.7 [31.9 || 15
16 | 32.0] 322|323 | 325|326 [ 32.8 ] 32.9| 331 [33:2 [ 334 || 16
17 [ 335|337 |33.8| 340|341 (343|344 | 346|347 [349 | 17
18 | 35.0 (352 | 35.3 | 35.5 | 35.6 [ 35.8 | 35.9 | 36.1 [ 36.2 | 36.4 || 18
19 | 36.5 367 | 36.8 | 37.0| 37.1 | 37.3 | 37.4 | 37.6 | 37.7 | 37.9 || 19
20 38,0 382|383 |385|38.6|388]33.9|30.1]|392 304 20
21 13951397 398|400 40.1 | 40.3| 40.4 | 40,6 | 40.7 | 409 || 21
22 (41.0|41.2|41.3|41.5|41.6|41.8]|41.9|421 |422 | 424 || 22
23 425|427 | 42.8 | 43.0( 431 [ 43.3| 43.4| 4356 | 437 | 439 || 23
24 | 44.0| 442|443 | 445|446 |44.8|449]| 451|452 | 454 || 24
25 | 45.5| 457 | 458 | 46.0 | 46.1 | 46.3 | 46.4 | 46.6 | 46.7 | 46.9 || 25
26 | 47.0| 472|473 | 475 | 47.6 | 47.8 | 47.9| 4811 | 482 | 434 || 26
27 1485 | 487 | 488 | 49.0| 49.1 | 49.3 | 49.4 | 4976 | 49.7 | 49.9 || 27
28 150.0 | 50.2 | 50.3 | 50.5 | 50.6 | 50.8 | 50.9 | 51.1 | 51.2 | 51.4 || 28
29 [[51.5|51.7 | 51.8 | 52.0| 52.1 | 52.3 | 52.4 | 526 | 52.7 | 52.9 || 20
30 [[53.0| 53.2| 53.3 | 53.5|53.6 | 53.8 | 53.9| 54.1 [ 54.2 | 54.4 || 30
31 || 545|547 | 54.8| 550 55.1 | 55.3 | 55.4 | 55.6 | 55.7 | 55.9 || 31
32 [156.0| 56.2 | 56.3 | 56.5 | 56.6 | 56.8 | 56.9 | 57.1 | 57.2 | 57.4 || 32
33 [|57.5 | 57.7 | 57.8 | 58.0 | 58.1 | 58.3 | 58.4 | 58.6 | 58.7 | 58.9 || 32
34 [ 59.0 [ 59.2 | 59.3 | 50.5 | 59.6 | 59.8 | 59.9 | 60.1 | 60.2 | 60.4 || 34
35 1605 | 607 | 60.8 | 61.0|61.1|61.3|61.4|61.6]61.7|61.9| 35
36 [162.0| 622|623 | 62.5|62.6 | 62.8| 629|631 | 63.2 | 63.4 || 36
37 1635|637 |63.8|64.0|64.1|643|644 646|647 |649] 37
38 [165.0|65.2| 653|655 656|658 659661662 |66.4 | 33
39 [ 66.5 | 66.7 | 66.8 | 67.0| 67.1 | 67.3 | 67.4 | 67.6 | 67.7 | 67.9 || 39
40 [l 680|682 | 683 |68.5|63.6|688]689]|69.1]69.2|694 | 40

Example—If point is 22.6 ft. above grade, how far should it be from center line to
be a slope stake point? Ans. from Table 41.9. For same slopes but other widths of
roadbed correct above figures by one-half difference in width of roadbed; thus in example
above for 20 ft. roadbed distance will be 41.94(20—16)+2 or 2 {t. added t0 41.9 =43.9,
For slopes of 1 on 1 see inside of front cover.

Copyright, 1014, by Eugene Dietzgen Co.
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